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1. Ifα,	β,	γare	the	roots	of	the	cubic	equation , findα	+	β	+	γ(135x3
	 −507x2

	 +614x−240) 0=

(i) 614
135 (ii) 169

45 (iii) (− 169
45 ) (iv) (− 16

9 ) (v) 16
9

2. Ifα,	β,	γare	the	roots	of	the	cubic	equation , findαβ	+	βγ	+	γα(315x3
	 −629x2

	 +309x−27) 0=

(i) (− 103
105 ) (ii) (− 629

315 ) (iii) 3
35 (iv) 629

315 (v) 103
105

3. Ifα,	β,	γare	the	roots	of	the	cubic	equation , findαβγ(210x3
	 −677x2

	 +720x−252) 0=

(i) 6
5 (ii) (− 677

210 ) (iii) 24
7 (iv) (− 6

5 ) (v) (− 24
7 )

4. If	one	of	the	roots	of	the	cubic	equation is , find	the	remaining	real	roots(42x3
	 −125x2

	 +66x−7) 0= 7
3

(i) ( )1
7 , 1

2 (ii) ( )11
5 , 1

9 (iii) ( )3 , 3
7 (iv) ( )3 , 1

5 (v) ( )5
3 ,(− 1

7 )

5. If	one	of	the	roots	of	the	cubic	equation is , find	the	remaining	real	roots(x3
	 −7x2

	 −53x+315) 0= 5

(i) ( )6 ,(−6) (ii) ( )(−7) ,9 (iii) ( )4 ,(−8) (iv) ( )8 ,(−5) (v) ( )2 ,(−9)

6. Ifα= ,β= ,γ= are	the	roots	of	the	cubic	equation ,then	find	9
8

2
5

5
6 	+	 	+	 	+		

	
3ax 	

	
2bx 	

	cx 	
	d=	0

b
a

(i) (− 283
120 ) (ii) 283

120 (iii) 413
240 (iv) 3

8 (v) (− 413
240 )

7. Ifα= ,β= ,γ= are	the	roots	of	the	cubic	equation ,then	find	1
8

3
4

2
7 	+	 	+	 	+		

	
3ax 	

	
2bx 	

	cx 	
	d=	0

c
a

(i) (− 65
56 ) (ii) (− 11

32 ) (iii) 65
56 (iv) 3

112 (v) 11
32

8. Ifα= ,β= ,γ= are	the	roots	of	the	cubic	equation ,then	find	5
9

5
3

8
5 	+	 	+	 	+		

	
3ax 	

	
2bx 	

	cx 	
	d=	0

d
a

(i) 172
45 (ii) (− 172

45 ) (iii) (− 40
27 ) (iv) 121

27 (v) 40
27

9. If (x−a) is	a	factor	of , find	the	value	of ax3	−	a x2	−	 x	−	5 25

(i) (-5) (ii) (-3) (iii) (-6) (iv) (-8) (v) (-4)



10. Ifα,	β,	γare	the	roots	of	the	cubic	equation , findα	+	β	+	γ(70x3
	 −319x2

	 +432x−180) 0=

(i) 319
70 (ii) (− 319

70 ) (iii) (− 216
35 ) (iv) 216

35 (v) 18
7

11. Ifα,	β,	γare	the	roots	of	the	cubic	equation , findαβ	+	βγ	+	γα(504x3
	 −599x2

	 +179x−14) 0=

(i) 1
36 (ii) (− 599

504 ) (iii) 599
504 (iv) (− 179

504 ) (v) 179
504

12. Ifα,	β,	γare	the	roots	of	the	cubic	equation , findαβγ(140x3
	 −397x2

	 +291x−54) 0=

(i) 397
140 (ii) (− 397

140 ) (iii) 27
70 (iv) 291

140 (v) (− 27
70 )

13. If	one	of	the	roots	of	the	cubic	equation is , find	the	remaining	real	roots(135x3
	 −498x2

	 +559x−180) 0= 9
5

(i) ( )7
3 , 5

7 (ii) ( )11
5 , 7

9 (iii) ( )7
5 , 1

3 (iv) ( )5
9 , 4

3 (v) ( )11
7 , 5

11

14. If	one	of	the	roots	of	the	cubic	equation is , find	the	remaining	real	roots(x3
	 −10x2

	 −19x+280) 0= 8

(i) ( )5 ,(−7) (ii) ( )7 ,(−6) (iii) ( )10 ,(−2) (iv) ( )(−5) ,7 (v) ( )9 ,(−4)

15. Ifα= ,β= ,γ= are	the	roots	of	the	cubic	equation ,then	find	1
9

3
5

7
3 	+	 	+	 	+		

	
3ax 	

	
2bx 	

	cx 	
	d=	0

b
a

(i) 233
135 (ii) 137

45 (iii) (− 7
45 ) (iv) (− 137

45 ) (v) (− 233
135 )

16. Ifα= ,β= ,γ= are	the	roots	of	the	cubic	equation ,then	find	1
5

5
3

5
6 	+	 	+	 	+		

	
3ax 	

	
2bx 	

	cx 	
	d=	0

c
a

(i) 27
10 (ii) 17

9 (iii) (− 27
10 ) (iv) (− 17

9 ) (v) 5
18

17. Ifα= ,β= ,γ= are	the	roots	of	the	cubic	equation ,then	find	1
4

2
9

7
5 	+	 	+	 	+		

	
3ax 	

	
2bx 	

	cx 	
	d=	0

d
a

(i) (− 43
60 ) (ii) (− 337

180 ) (iii) (− 7
90 ) (iv) 43

60 (v) 7
90



 1)	(ii)  2)	(v)  3)	(i)  4)	(i)  5)	(ii)  6)	(i)

 7)	(v)  8)	(iii)  9)	(i)  10)	(i)  11)	(v)  12)	(iii)

 13)	(iv)  14)	(iv)  15)	(iv)  16)	(ii)  17)	(iii)
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